275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L e Tel. 519-884-8555

)7 ¢ Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & ISO14001 REGISTERED SYSTEMS

HOOD EXTENSION PANELS
Peterbilt 388/389

*** Some of the hardware kits supplied were designed for multiple applications and have un-used fasteners***
INSTALLATION INSTRUCTIONS:

1. Remove stock hood extension panels (HEP) and lower brackets.

2. Attach the lower brackets to the hood guide using the provided %"-20-1" hex head cap screws, washers
and nuts. Install the bolts so the bolt head is inside the hood guide and does not cause interference with
the hood. Only snug the bolts for now.

3. If you purchased Wide Replacement HEP for Extended Cab Panels, then refer to step 3a. If you
purchased. Notched Replacement HEP, then refer to step 3b. If you purchased Standard Replacement
HEP, then refer to step 3c.

a. Attach the part to the Cab Panel using the provided #10-24 hex washer head screws, and nuts
for 3" wide cab panels. Use "4"-20-3/4" bolts, washers, and nuts for the 4” wide cab panels Attach
to lower bracket using 4"-20-1" hex head cap screws, washers and nuts. Only snug the bolts for now.

b. Using the part as a template, mark the 2 mounting holes on the bottom of the cab skirt
i Drill the rear mounting hole with a 5/16" drill bit.
ii Drill the front mounting hole with a 3/16” drill bit.

Attach the part to the truck using the provided 1/4”-20 hex bolts, nuts and washers to the top rear
mounting hole and lower bracket. Use the 1/4" self-tapping fastener for the top front mounting hole.
Attach notched section to Cab Panel using 2 #10-24 hex washer head screws, washers, and nuts. Only snug
the bolts for now. In some cases, previously installed cab panels may need to be relocated for best
appearance.

C. Using the part as a template, mark the 2 mounting holes on the bottom of the cab skirt
i Drill the rear mounting hole with a 5/16" drill bit.
i Drill the front mounting hole with a 3/16" drill bit.

Attach the part to the truck using the provided 1/4"-20 hex bolts, nuts and washers to the top rear
mounting hole and lower bracket. Use the 1/4” self-tapping fastener for the top front mounting hole. Only
snug the bolts for now.

4, When the fit and alignment is acceptable, securely tighten all mounting hardware.

5. If Hood Extension Panel has lights, Follow steps 6 and 7.

6. The black wire (Positive) should be attached to a 12-volt power supply (15 amp circuit minimum). If the
lights are going to be tied in with another system make sure that the circuit will accommodate the
entire load.

7. If applicable the white wire (ground) should be securely attached to a chassis ground. Some lights use|

the Hood Extension Panel as a ground source and do not need an additional wire.
Page 1 of 3 00812843 05/2007



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L e Tel. 519-884-8555

)¢ Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & ISO14001 REGISTERED SYSTEMS

PANNEAUX D'EXTENSION DE CAPOT
Peterbilt 388/389

*** Certaines des kits de quincaillerie fournis ont été concus pour des applications multiples et certaines fixations
ne seront pas utilisées ***
INSTRUCTIONS D’'INSTALLATION:

1. Retirez les panneaux d’'extension de capot originaux et les supports inférieurs.

2. Fixez les supports inférieurs au guide du capot a l'aide des vis a téte hexagonale 2"-20-1", rondelles et
écrous fournis. Installez les vis de sorte que la téte de vis soit a l'intérieur du guide de capot et ne cause pas
d'interférences avec le capot. Serrez les boulons légérement seulement pour l'instant.

3. Si vous avez acheté des panneaux larges de remplacement Panelites pour les panneaux longs de cabine,
passez a l'étape 3a. Si vous avez acheté des panneaux de remplacement crantés Panelites, passez a l'étape
3b. Si vous avez acheté des panneaux de remplacement Panelites standard, passez a ['étape 3c.

a. Fixez la piéce au panneau de cabine a l'aide de vis a rondelle hexagonales no 10-24 pour les
panneaux de cabine de 3" de largeur. Utilisez les vis, rondelles et écrous 4"-20-3/4" pour les
panneaux de cabine 4" de largeur. Fixez le support inférieur a l'aide des vis a téte hexagonale,
rondelles et écrous "4"-20-1". Serrez les boulons légerement seulement pour l'instant.

b. En utilisant la piéce comme gabarit, marquez les 2 trous de fixation sur le bas de la jupe de la cabine.
[ Percez le trou de fixation arriere avec une meéche de 5/16".
i Percez le trou de fixation avant avec une méche de 3/16"

Fixez la piéce au camion a l'aide des vis a téte hexagonale de 1/4"-20, écrous et rondelles fournis au trou
supérieur arriére et au support inférieur. Utilisez les vis auto-taraudeuses de 1/4" pour le trou fixation
supérieur avant. Fixez le panneau cranté a la cabine a l'aide des vis a téte hexagonale 2 # 10-24, rondelles et
écrous. Serrez les boulons légerement seulement pour l'instant. Dans certains cas, les panneaux de cabine
installés précédemment peuvent devoir étre déplacés pour une meilleure apparence.

C. En utilisant la piece comme gabarit, marquer les 2 trous de fixation sur le bas de la jupe de la cabine.
i Percez le trou de fixation arriére avec une meéche de 5/16".
i Drill the front mounting hole with a 3/16" drill bit.

Fixez la piéce au camion a l'aide des vis a téte hexagonale de 1/4"-20, écrous et rondelles fournis au trou
supérieur arriére et au support inférieur. Utilisez les vis auto-taraudeuses de 1/4" pour le trou fixation
supérieur avant. Serrez les boulons légérement seulement pour l'instant.

4, Lorsque l'ajustement et l'alignement est acceptable, bien serrer toute la quincaillerie de Fixation.
5. Si le panneau d'extension du capot est doté de lumiéres, suivez les étapes 6 et 7.
6. Le fil noir (positif) doit étre connecté a une alimentation 12 volts (circuit de 15 amperes minimum). Si les

lumiéres seront liées a un autre systéme, assurez-vous que le circuit peut accueillir l'ensemble de la charge.

7. Si applicable, le fil blanc (la mise a la terre) doit étre solidement connecté a une mise a la terre du chassis.
Certaines lumiéres utilisent le panneau d'extension du capot comme une source de mise a la terre et n'ont
pas besoin d'un fil supplémentaire.

Page 2 of 3 00812843 05/2007



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L e Tel. 519-884-8555

)¢ Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & ISO14001 REGISTERED SYSTEMS

PANELES DE EXTENSION DEL CAPO
Peterbilt 388/389

***A[gunos kits de accesorios provistos se disenaron para multiples aplicaciones, algunos sujetadores pueden no
usarse***
INSTRUCCIONES DE INSTALACION:

1. Remover los paneles de extension del capé existentes y los soportes inferiores.

2. Junte los soportes inferiores a la guia del capo usando los tornillos de cabeza hexagonal de %4"-20-1", arandelas y
tuercas provistas. Instale todos los tornillos de tal forma que la cabeza del tornillo quede adentro de la guia del
capd y no causa interferencia con el capd. Solo apriete levemente los tornillos por ahora.

3. Si usted compré Repuestos Anchos Panelites para Paneles de Cabina Extendida, refiérase al paso 3a. Si usted
compré Repuestos Enmuescados Panelites, refiérase al paso 3b. Si usted compré Repuesto Estandar Panelites,
refiérase al paso 3c.

a. Junte la parte al Panel de Cabina usando los tornillos de cabeza hexagonal con arandela #10-24 provistos
y tuercas para paneles de cabina de 3" de ancho. Use tornillos de %4"-20-3/4", arandelas y tuercas para los
paneles de 4" de ancho. Junte al soporte inferior usando tornillos de cabeza hexagonal de "4"-20-1",
arandelas y tuercas. Solo apriete levemente por ahora

b. Usando la pieza como plantilla, marque los dos agujeros de montaje en la parte inferior de la falda de la
cabina.

[ Perfore el agujero de montaje posterior con broca de 5/16".
ii Perfore el agujero de montaje frontal con broca de 3/16".

Junte la parte al camién usando los tornillos hexagonales de 1/4"-20, arandelas y tuercas provistas al agujero de
montaje superior posterior y soporte inferior. Use los sujetadores auto adheribles de 4" para el agujero
superior frontal. Pegue la seccion enmuescada al panel de cabina usando tornillos hexagonales 2 #10-24,
arandelas y tuercas. Solo apriete levemente por ahora. En algunos casos, paneles previamente instalados deban
ser re-localizados para una mejor apariencia.

C. Usando la pieza como plantilla, marque los dos agujeros de montaje en la parte inferior de la falda de la
cabina.
i Perfore el agujero de montaje posterior con broca de 5/16".
ii Perfore el agujero de montaje frontal con broca de 3/16".

Junte la parte al camién usando los tornillos hexagonales de 1/4”-20, arandelas y tuercas provistas al agujero de
montaje superior posterior y soporte inferior. Use los sujetadores auto adheribles de 4" para el agujero superior
frontal. Solo apriete levemente por ahora.

Cuando el ajuste y alineacion es acceptable, apriete de forma segura todos los accesorios de montaje.
Si el panel de extension del capo tiene luces, siga los pasos 6y 7.

El cable negro (Positivo) debe conectarse a una fuente de poder de 12-Volt (circuito minimo de 15-Amp). Si las

luces van a atarse con otro sistema, asegurese que el circuito aguanta con la carga entera.

7. Si aplica, el cable blanco (Tierra) debe unirse de forma segura a tierra en el chasis. Algunas luces usan el panel de
extension del capé como una fuente de tierra y no necesitan un cable adicional.

Page 3 of 3 00812843 05/2007



